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Evaluation Textbook Questions Answers

1. Assertion (A): Increase in Proton gradient
inside lumen reponsible for ATP synthesis

Reason (R ): Oxygen evolving complex of PS |


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_qZ4FrMY2SFNr

located on thylakoid membrane facing Stroma,

releases H " ions

A. Both Assertion and Reason are True.

B. Assertion is True and Reason is False.

C. Reason is True and Assertion is False.

D. Both Assertion and Reason are False.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_qZ4FrMY2SFNr

2. Which chlorophyll molecule does not have a

phytol tail?

A. Chl-a

B. Chl-b

C. Chl-c

D. Chl-d

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_8wRChrxLqEUx
https://dl.doubtnut.com/l/_n1qjTjJkpY1r

3. Identify the correct sequence of flow of

electrons in the light reaction is

A.PS II, plastoquinone, cytochrome, PS |,

ferredoxin.

B.PS 1, plastoquinone, cytochrome, PS Il

ferredoxin.

C.PS I, ferredoxin, plastoquinone,

cytochrome, PS I.

Answer: A


https://dl.doubtnut.com/l/_n1qjTjJkpY1r

° Watch Video Solution

4, For every COy molecule entering the C

cycle, the number of ATP and NADPH required

IS

A. 2ATP + 2DPH

B. 2ATP + 3DPH

C. 3ATP + 2DPH

D. 3ATP + DPH

Answer: C


https://dl.doubtnut.com/l/_n1qjTjJkpY1r
https://dl.doubtnut.com/l/_tKIfmiPTgz0h

o Watch Video Solution

5. Identify true statement regarding light

reaction of photosynthesis

A. Splitting of water molecule is associate

with PS I.

B. PS | and PS Il involved in the formation of

NDPH + H ..

C. The reaction center of PS | is Chlorophyll

a with absorption peak at 680 nm.


https://dl.doubtnut.com/l/_tKIfmiPTgz0h
https://dl.doubtnut.com/l/_FERGWsnzAsp0

D. The reaction center of PS Il is Chlorophyll

a with absorption peak at 700 nm.

Answer: B

° Watch Video Solution

6. Two groups (A & B) of bean plants 450nm &
Group B to light of wave of similar size and
same leaf area were length of 500-550nm.
Compare the placed in identical conditions.

Group A photosynthetic rate of the2 groups


https://dl.doubtnut.com/l/_FERGWsnzAsp0
https://dl.doubtnut.com/l/_L3Y74DbDDOb2

givwas exposed to light of wavelength 400

reasons.

° Watch Video Solution

7. A tree is believed to be releasing oxygen
during night time. Do you believe the

truthfulness of this statement?

° Watch Video Solution



https://dl.doubtnut.com/l/_L3Y74DbDDOb2
https://dl.doubtnut.com/l/_rIriG0M5XB3J

8. Grasses have anadaptive mechanism to
compensate photorespiratory lossesName and

describe the mechanism.

o Watch Video Solution

9. In Botany class, teacher explains, Synthesis
of one glucose requires 30 ATPs in C4 plants
and only 18ATPs in (5 plants. The same

teacher explains C; plants are more


https://dl.doubtnut.com/l/_JRJ0j2BXIrlP
https://dl.doubtnut.com/l/_wsPy25tm58bx

advantageous than Cj3 plants. Can you identify

the reason for this cont

° Watch Video Solution

10. When there is plenty of light and higher
concentration of Oy, what kind of pathway

does the plant undergo? Anaylse the reasons.

° Watch Video Solution

Other Important Questions Answers Choose The

Correct Answer 1 Mark



https://dl.doubtnut.com/l/_wsPy25tm58bx
https://dl.doubtnut.com/l/_UHY3j9Ceo6gu

1. Photosynthesis is the major:

A. endothermic reaction

B. exothermic reaction

C. endergonic reaction

D. exergonic reaction

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_xPfxjn1mvF6L

2. Who explained the importance

chlorophyll in photosynthesis?

A. Joseph Priestly

B. Dutrochet

C. Stephen Hales

D. Lovoisier

Answer: B

of

o Watch Video Solution



https://dl.doubtnut.com/l/_hHLHWQSYy4TK
https://dl.doubtnut.com/l/_X3uMUMntPe5m

3. How many million tonnes of dry matter

produced annually by photosynthesis?

A. 1700 million tonnes

B. 1900 million tonnes

C. 1400 million tonnes

D. 2000 million tonnes

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_X3uMUMntPe5m

4. Who received 1988 Nobel prize for his work

on photosynthesis in Rhodobacter:

A. Emerson and Arnold

B. Ruben and kamem

C. Arnon, Allen and Whatley

D. Huber, Michael and Dissenhofer

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_izd76IO3Zqhu
https://dl.doubtnut.com/l/_2pGXnc8YfRdj

5. Thylakoid disc diameter is:

A. 0.35 to 0.75 microns

B. 0.25 to 0.8 microns

C.0.45 to 0.8 microns

D. 0.50 to 0.9 microns

Answer: B

° Watch Video Solution

6. Indicate the correct statement:


https://dl.doubtnut.com/l/_2pGXnc8YfRdj
https://dl.doubtnut.com/l/_2pmuCEBEHJwN

A. Gra lamellae have only PS |

B. Stroma lamellae have only PS I

C. Gra lamellae have both PS | and PS Il

D. Stroma lamellae have both PS | and PS Il

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_2pmuCEBEHJwN

7. Match the following:

A. Cyanobacteria (i) C hlorophyllD

B. Green algac (i) Chlorophyll C
C. Brown algac (iii) (‘hloroph)’”VAh ]
D. Red algae (iv) (;h]()r()phy”B; :

A. A-(iii), B(i), C-(iv), D-(ii)

B. A(ii), B(iii), C-(iv), D~(i)

C. A-(iii), B(iv), C-(i), D-(ii)

D. A-(iii), B(iv), C(ii), D-(i)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_OGI0yLOglJKG

8. Each pyrrole ring comprises of:

A. six carbons and one nitrogen atom

B. three carbons and one nitrogen atom

C. four carbons and one nitrogen atom

D. four carbons and two nitrogen atom

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_OGI0yLOglJKG
https://dl.doubtnut.com/l/_lstfBUVj9gC1
https://dl.doubtnut.com/l/_CORXs7WL7t6s

9. Biosynthesis of chlorophyll 'a' requires:

A. Mg, Fe, Cu, Zn, Mn, K and nitrogen

B. Mg, Fe, Cu Mo, Mn, K and nitrogen

C. Mg, Cu, Zn, Mo, Mn, K and nitrogen

D. Mg, Fe, Cu, Zn, Mo, K and nitrogen

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_CORXs7WL7t6s

10. Pheophytin resembles chlorophyll except

that it lacks

A. Fe atom

B. Mn atom

C. Mg atom

D. Cu atom

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_5GjH72yJ6AtY
https://dl.doubtnut.com/l/_By7JsGHpgp2v

11. Almost all carotenoid pigments have:

A. 50 carbon atoms

B. 40 carbon atoms

C. 30 carbon atoms

D. 60 carbon atoms

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_By7JsGHpgp2v

12. Which one of the photosynthetic pigments

is called shield pigment:

A. carotenes

B. carotenes chlorophyll 'b’

C. pheophytin

D. carotenoids

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_BpacG7LSF4sY
https://dl.doubtnut.com/l/_5GWObWbuMUoh

13. The visible spectrum ranges between

A. 200 to 2800 nm

B.300 to 2600 nm

C. 200 to 800 nm

D. 300 to 2400 nm

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_5GWObWbuMUoh

14. Photosynthetic rate of red light (650 nm) is

equal to:

A. 425

B.10

C.43.5

D.40.8

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_QxO4e6J29CwI
https://dl.doubtnut.com/l/_TQTjtKqP9GIL

15. Indicate the correct statement in respect to
Hill' reaction:

(i) During photosynthesis oxygen is evolved
from water During photosynthesis oxygen is
evolved from CO,

Electrons fro the reduction of CO, are

obtained from water

A. (i) and (ii)

B. (ii) and (iii)

C. (i) and (iv)

D. (i1) and (iv)


https://dl.doubtnut.com/l/_TQTjtKqP9GIL

Answer: C

o Watch Video Solution

16. Phosphorylation taking place

respiariton is called ... :

A. Photophorylation

B. Oxidative phosphorylation

C. Reductive phosphorylation

D. None of the above

during


https://dl.doubtnut.com/l/_TQTjtKqP9GIL
https://dl.doubtnut.com/l/_8Kv9fopk80m4

Answer: B

o Watch Video Solution

17. Find out the odd one:

A. Ferredoxin

B. Succite

C. Cytochrome bg — f

D. Plastocyanin

Answer: B


https://dl.doubtnut.com/l/_8Kv9fopk80m4
https://dl.doubtnut.com/l/_CXmLagGp9yc6

° Watch Video Solution

18. In bio-energetics of light reaction, to

release one electron from pigment system it

requires:

A. two quanta of light

B. four quanta of light

C. one quanta of light

D. eight quanta of light

Answer: A


https://dl.doubtnut.com/l/_CXmLagGp9yc6
https://dl.doubtnut.com/l/_7pkZti7xMlvS

° Watch Video Solution

19. Chemiosmotic theory was proposed by

A.S. Michael

B. R. Hill

C. P. Mitchell

D. G. Root

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_7pkZti7xMlvS
https://dl.doubtnut.com/l/_CZd6xMUWi7yG

20. In (4 plants, how many ATPs and

DPH + H™ are utilised for the release of

one oxygen molecule:

A.3ATPs and 2DPH + H™

B.4ATPs and 3DPH + H™

C.2ATPs and 2DPH + H*

D.5ATPs and 2DPH + H™

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_CZd6xMUWi7yG
https://dl.doubtnut.com/l/_P2Qdv5C7wj3P

21. The key enzyme in the carboxylation

reaction is:

A. Ribulose dehydrogese

B. Carboxylase

C. Carboxylase oxygese

D. Carboxyl anhydrase

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_P2Qdv5C7wj3P
https://dl.doubtnut.com/l/_vWNizD0AF7QT

22. In sugarcane plant, the dicarboxylic acid

pathway was first discovered by:

A. hatch and Slack

B. Kortschak, Hart and Burr

C. Calvin and Benson

D. Mitchell and Root

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_oGqJvjojWgNs
https://dl.doubtnut.com/l/_jPhGJQy3PIau

23. In bundle sheath cells, malic acid

undergoes dicarboxylation and produces 3

carbon compound:

A. Glyceric acid and CO,

B. Glyceraldehyde and CO,

C. Pyruvic acid and CO,

D. None of the above

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_jPhGJQy3PIau
https://dl.doubtnut.com/l/_rl5HnQnCtljs

24. Indicate the correct answer:

A.Cy plants are adapted to only rainly

conditions

B.C, plants are partially adapted to

drought condition

C.Cy4 plants are exccusively adapted to

desert condition

D.C; plants are adapted to aquatic

condition


https://dl.doubtnut.com/l/_rl5HnQnCtljs

Answer: B

o Watch Video Solution

25. Crassulacean acid metabolism or CAM cycle

was first observed in:

A.sugarcane

B. bryophyllum

C. mango

D. ba


https://dl.doubtnut.com/l/_rl5HnQnCtljs
https://dl.doubtnut.com/l/_1EhzZGD1CHN5

Answer: B

o Watch Video Solution

26. Glycolated protects plant cells from:

A. Photophosphorylation

B. Photo reduction

C. Photo oxidation

D. Photolysis

Answer: C


https://dl.doubtnut.com/l/_1EhzZGD1CHN5
https://dl.doubtnut.com/l/_MZ0Q9boUiO6L

° Watch Video Solution

27. The important exterl factors affecting

photosynthesis are:

A. light, chlorophyll, temerature

B. light, stomatal opening, oxygen

C. light, protoplasmic factor, oxygen

D. light, CO, and oxygen

Answer: D

| 8 l


https://dl.doubtnut.com/l/_MZ0Q9boUiO6L
https://dl.doubtnut.com/l/_fqbhzsesruQu

28. Hormones like gibberellin:

A. increases the rate of photosynthesis

B. increase respiration

C. decrease the rate of photosynthesis

D. decrease the rate of transpiration

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_fqbhzsesruQu
https://dl.doubtnut.com/l/_xjrdrRV1SkmL
https://dl.doubtnut.com/l/_ruKPsHMZZZqp

29. Bacterial photosynthesis differs from

higher plants in evolution of

A. utilizing water as electron dor

B. releasing O,

C. releasing sulphur instead of oxygen

D. utilizing SO, as electron dor

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ruKPsHMZZZqp
https://dl.doubtnut.com/l/_ezPPHtN9nKFD

30. Splitting of water molecule (photolysis)

produces:

A. hydrogen and oxygen

B. electrons, protons and oxygen

C. electrons and oxygen

D. hydrogen, carbon di oxide and oxygen

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ezPPHtN9nKFD

Other Important Questions Answers li Answer

The Following 2 Marks

1. What is the function of plant in the

universe?

o Watch Video Solution

2. Define photosynthesis.

o Watch Video Solution



https://dl.doubtnut.com/l/_nq54teL8CTnv
https://dl.doubtnut.com/l/_dUSyk9YhfqJb

3. What is the site of photosynthesis?

o Watch Video Solution

4. What is thylakoid?

o Watch Video Solution

5. Endosymbiotic hypothesis says that
chloroplasts evolved from bacteria.

Substantiate the statement.



https://dl.doubtnut.com/l/_xeaUP5CMow1h
https://dl.doubtnut.com/l/_BakSshZ0W9kI
https://dl.doubtnut.com/l/_obnnhXgY3srn

o Watch Video Solution

6. Define the term photosynthetic pigment .

o Watch Video Solution

7. Match the following:

LA. Xanthophyll ‘(z) Lycopene

'B. Phycocyanin (i) Red algae

C. Carotene (iii) Brown algae
D. Phycoerythin ' (iv) Cyanobacteria

o Watch Video Solution



https://dl.doubtnut.com/l/_obnnhXgY3srn
https://dl.doubtnut.com/l/_HJOzi820gbkp
https://dl.doubtnut.com/l/_Zs3MZIteh9tB
https://dl.doubtnut.com/l/_Ch9rGPy7Z49o

8. What are Xanthophylls?

o Watch Video Solution

9. List any five properties of light.

o Watch Video Solution

10. Define absorption spectrum.

o Watch Video Solution



https://dl.doubtnut.com/l/_Ch9rGPy7Z49o
https://dl.doubtnut.com/l/_ur3LYujD14Yf
https://dl.doubtnut.com/l/_Qq0tS96SEVfs
https://dl.doubtnut.com/l/_C7GL4L8tan2F

11. Define the term fluorescence.

o Watch Video Solution

12. What is substrate level phosphorylation?

o Watch Video Solution

13. Define Photophosphorylation .

o Watch Video Solution



https://dl.doubtnut.com/l/_C7GL4L8tan2F
https://dl.doubtnut.com/l/_3TUfUUik3cOR
https://dl.doubtnut.com/l/_bi6lE2aN26xB
https://dl.doubtnut.com/l/_MYUvynrn0t5E

14. Explain the three phase of Dark reaction .

o Watch Video Solution

15. What is the significance  of

photorespiration?

° Watch Video Solution

16. What is meant by carbon dioxide

compensation point?



https://dl.doubtnut.com/l/_MYUvynrn0t5E
https://dl.doubtnut.com/l/_4LMWFVucswiC
https://dl.doubtnut.com/l/_UXTJSb4mwaCE

I o Watch Video Solution

17. Name the internal factors affecting

photosynthesis.

° Watch Video Solution

18. What are the air pollutants, that affect rate

of photosynthesis?

o Watch Video Solution



https://dl.doubtnut.com/l/_UXTJSb4mwaCE
https://dl.doubtnut.com/l/_XsLqJevCavjP
https://dl.doubtnut.com/l/_lNeISftfq8Wj
https://dl.doubtnut.com/l/_oe9FNvTFxODM

19. How does water affect the rate of

photosynthesis?

° Watch Video Solution

20. Name any three photosynthetic bacteria.

° Watch Video Solution

Other Important Questions Answers lii Answer

The Following 3 Marks



https://dl.doubtnut.com/l/_oe9FNvTFxODM
https://dl.doubtnut.com/l/_w9Fzswr78ke5

1. Mention the significance of photosynthesis.

o Watch Video Solution

2. How is chlorophyll 'a' synthesized?

o Watch Video Solution

3. What are phycobilins?

o Watch Video Solution



https://dl.doubtnut.com/l/_B7oFcefnYEUI
https://dl.doubtnut.com/l/_vP73lp0ttEOW
https://dl.doubtnut.com/l/_JGO9sDegY8U1

4. List the conclusions obtained by Hill's

reaction.

o Watch Video Solution

5.What is ground state?

o Watch Video Solution

6. Explain the term phosphorescence.

o Watch Video Solution



https://dl.doubtnut.com/l/_vwSoHzy9qOMl
https://dl.doubtnut.com/l/_sf7PRXteKMy3
https://dl.doubtnut.com/l/_8ku7YYMcZLLa

7. Describe the method of carboxylation.

° Watch Video Solution

8. Explain the three phase of Dark reaction .

° Watch Video Solution

9. What is meant by dicarboxylic acid pathway?

° Watch Video Solution



https://dl.doubtnut.com/l/_8ku7YYMcZLLa
https://dl.doubtnut.com/l/_wkYVq2ihM2oj
https://dl.doubtnut.com/l/_AHf1k5Nk12W0
https://dl.doubtnut.com/l/_oKxtWJR1LaFa

10. Mention the significances of C, cycle.

o Watch Video Solution

1. What is the type of carbon pathway in

xerophytic plants?

o Watch Video Solution

12. What is the significance of CAM cycle?



https://dl.doubtnut.com/l/_oKxtWJR1LaFa
https://dl.doubtnut.com/l/_ZJwqhhUg4Pb2
https://dl.doubtnut.com/l/_bNwmgzdh1fRN
https://dl.doubtnut.com/l/_AEC6OHJOu3vr

o Watch Video Solution

Other Important Questions Answers Iv Answer

The Following 5 Marks

1. Explain in detail about absorption spectrum

and action spectrum of light.

° Watch Video Solution

2. Distinguish between Photo system-l and

photo system-Il.


https://dl.doubtnut.com/l/_AEC6OHJOu3vr
https://dl.doubtnut.com/l/_VbQjS1NL2KK8
https://dl.doubtnut.com/l/_u4RdiUTGdERV

° Watch Video Solution

3. Explain the process of photolysis of water

with suitable diagram.

o Watch Video Solution

4. Explain non-cyclic photophosphorylation.

o Watch Video Solution



https://dl.doubtnut.com/l/_u4RdiUTGdERV
https://dl.doubtnut.com/l/_4T5cIN3ijalZ
https://dl.doubtnut.com/l/_FJy1QRKnDo4Y

5. Explain chemiosmotic theory with suitable

diagram.

o Watch Video Solution

6. Compare and contrast the photosynthetic

processes in C3 and (4 plants.

o Watch Video Solution



https://dl.doubtnut.com/l/_hHdEowDBTWMn
https://dl.doubtnut.com/l/_e26QxwCxx2Lp

7. Give the schematic diagram of

photorespiration.

o Watch Video Solution

8. Differentiate photorespiration and Dark

respiration.

o Watch Video Solution

Other Important Questions Answers Check Your

Grasp



https://dl.doubtnut.com/l/_eLDN9bBxr3F8
https://dl.doubtnut.com/l/_5CijRYr2ungn

1. Name the products produced from Non-

Cyclic photophosphorylation?

o Watch Video Solution

2. Why does PS Il require electrons from

water?

o Watch Video Solution



https://dl.doubtnut.com/l/_mcr1EWKOhj4o
https://dl.doubtnut.com/l/_fhmdmhIrLmKL

3. Can you find the difference in the Pathway

of electrons during PS | and PS 11?7

o Watch Video Solution



https://dl.doubtnut.com/l/_ZmtTD8hRlLRO

